fit = B # =

1. RAMERVEHEEEDHAM

(Bfr-[M)
= & ENDTELE A IRSE(MEE | LHEAIENEE | ZEARAEE | BARIRSE(MEE
EABE [EXBECGHES) 3,306,647 14 0 3,306,661
HARBIEET 3,306,647 14 0 3,306,661
BEEE |BBEHRMA51HEE 5,270,310 799,800 0 6,070,110
i S 800,001 4 800,003 2
A S 200,000 1 0 200,001
XIERATLILFEEE 750,003 6 0 750,009
MREBAZSEE 6,150,011 50 5,376,873 773,188
BSEEER 13,170,325 799,861 6,176,876 7,793,310
2. 5| &L DA

e (Bf7: )

| H# =N sls HA4eh = ‘,v 55 l/\gﬂ H =N

*‘l‘ E l*ﬂ-é_ﬁilﬁl évﬂiEhuﬁﬁ E E"]{ﬁﬁﬁ %0)1m vﬂ*y§lﬁl
BERAEISE 5,270,310 799,800 0 0 6,070,110
E55 4% 4,584,554 0 4,584,554 0 0
EFEEX: 9,854,864 799,800 4584 554 0 6,070,110

28




